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ОТВЕТЫ 9-11 класс

	1. 28:7+8∙9-63;

2. (66-58+13):7∙10;

3. 20:(33-4∙7)+47;

4. 15:3+8∙(31-26);

5. 30:(2+10∙6-52);

6. 19+7∙(13-10:2);

7. 6539 : 13;
8. 145 [image: image1.png]


 203; 
9. 0,323 + 0,7; 
10.  14 – 3,57;
11.  9,54[image: image3.png]


0,1;
12.  4,56[image: image5.png]


100; 
13.  12,43 : 100;  
14.  0,68 : 0,01;  
15.   16,94 : 2,8; 
16.   (0,78-5,356:5,2) ·1,6-0,6;
17.  ([image: image7.png]1,82
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;
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2. (66-58+13):7∙10;

3. 20:(33-4∙7)+47;
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5. 30:(2+10∙6-52);
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      18.        [image: image39.png]


;
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2. (66-58+13):7∙10;

3. 20:(33-4∙7)+47;

4. 15:3+8∙(31-26);
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